== A
N & 0l & AF & E A A
202238 & =0l & L BHSIH M|
FA TZAYER NI
M AMRZRSIEEZNEIIBEY
S AYESE E2EFFH| CEERED)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
S2AEER XGHLE D 17,635,375 15,700, 760 1,934,615
s 610,000
< 1,332,646
Al 15,692,729
AMOZRSIHEZNEI|EBIEH 17,268,520 15,315,593 1,952,927
s 610,000
< 1,332,646
Al 15,325,874
AMOZSHE S 2 EH| 10,564,440 11,529,585 A 965,145
s 610,000
< 1,332,646
Al 8,621,794
MAEEZ NSHA 9,500 0 9,500
401 A& BIZ 201 8] 9,500 0 9,500
01 A& HI 9,500 0 9,500
OMEEZ WSHEMY OIXs EX B4
9,500,000 9,500
wxtgE N AY 400,800 302, 160 98,640
401 Al B2 28I 400,800 302,160 98,640
01 A& HI 400,000 300,000 100,000
OuUXZ wEsd MLAS 200,000, 000& 200,000
OHHEE &5 L HEAL(THA)
200,000,000 200,000
03 Al =20 HI 800 2,160 A 1,360
OuUXtz N AL 400,000,000& = 0.2% 800
SMUXE A ALS 160,000 841,932 A 681,932
401 Al&HI 2 28I 160,000 841,932 A 681,932
01 A& HI 160,000 840,000 A 680,000
O3 ™dWIZE A 160,000, 000& 160,000
THE M S A 3,456,900 3,423,820 33,080
401 Al Bl 28I 3,456,900 3,423,820 33,080
01 A& HI 3,450,000 3,420,000 30,000
oA SEHd FH ALY 200,000, 000& 200,000
OXEE M 21598 ZA 400,000,000& 400,000
O8HANY T ZA 600,000,000 600,000
O1=22 S 5 d NS MBAL
500,000,000 500,000
22 S 5Hed XHHTMBA
500,000, 000& 500,000
Os¥=zZ S 5Med T MTA
150,000, 000& 150,000
OS2 S 5Med MBI A
150,000, 000& 150,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
Sl MRS T2E I CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O882 S tMed L= MZAL
150,000, 000& 150,000
OWMZ S s Xt ZMZ AL
150,000, 000& 150,000
O8L=Z2 S biied T MIA
150,000, 000& 150,000
OXHZ S 5Ll HHEMDA
150,000, 000& 150,000
o=geclst Utz ZFAZ 100,000, 000& 100,000
O0ell-eE8s 2 I EMIA
250,000, 000& 250,000
03 A2 S THHI 6,900 3,820 3,080
O Xt = A Z AL 3,450,000,000& * 0.2% 6,900
WSHMAIEE X £ WAHAY 501,000 802, 160 A301,160
401 AIEHI L 2CHEI 501,000 802, 160 A 301,160
01 A& Bl 500,000 800,000 300,000
OWSHHAIE EX & WHAL
300,000,000 300,000
OLLESHZ(0IHEZE S) HUIAZ
200,000, 000& 200,000
03 Al 2 THHI 1,000 2,160 A 1,160
OusSAHdANEs X L WA
500,000,000& * 0.2% 1,000
e 22 S JHAALS 240,000 241,728 A1,728
401 AIEHI L 201 240,000 241,728 A1,728
01 A& HI 240,000 240,000 0
OLAIAAMHE S 4L U2H 2EHEE &
X AHE 240,000, 000& 240,000
SE2AE sX2e 970,564 909, 527 61,037
201 L2l 320,564 255,432 65,132
02 2324l 320,564 255,432 65,132
ORU WSSt I B AHIS
2,200,000& » 11904 & 261,800
ORuS=H=EJNct & dZ2E MRS
9,000& * 1210 = 128 13,068
ORANESHEINA SER=
32,000& * 119004 = 12& 45,696
401 Al HIZ 2018 650,000 654,095 A 4,095
01 A& HI 650,000 650,000 0
OLZ2otd RANE==AY 150,000, 000& 150,000
OFEXNESE HEAY 500,000, 000& 500,000
Helol2Es29 HEAY 1,702,880 1,571,880 131,000
s 400,000
Al 1,302,880




FN: EZANEER NGHLH
M ARG EEZWSIIBES
Helr AQESE S2EFE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 1,702,880 1,571,880 131,000
s 400,000
Al 1,302,880
01 A& HI 1,700,000 1,569,000 131,000
ONElIEE7Y e & |X2elAd
800,000,000& 800,000
OUBO0IBETY ANE(A) HHSE S0
=N 100,000, 000& 100,000
OUSESEHD S 444 ORA0RETY HA
A 400,000,000 400,000
s 200,000
Al 200,000
OMAEEs W S 3MA HEI0ESTE A
A 400,000,000& 400,000
s 200,000
Al 200,000
03 AlE 2 THHI 2,880 2,880 0
ONE 2SS JHH & | 22lAY
800,000,000& * 0.36% 2,880
E2J|s RA2c 41,050 7,723 33,327
201 £B-2d| 2,530 2,203 327
01 At 22l 1,530 1,203 327
OHMEXE 23 BIAANA ROl
2,000& = 58 ~ 100& 1,000
OWHXE tH=EH I =4 265
OZ28= 90,000& » 1H 90
ogst=s 100,000 * 1H 100
O¢otH 5t 60,000& = 1H 60
(OF =) 15,0002  1¥ 15
OZ22R(RIIAH) TS| 265
OZ28= 90,000& » 1H 90
ogst= 100,000 * 1H 100
OetH 3t 60,000& = 1H 60
Oo=9 15,000& * 1% 15
02 232gl 1,000 1,000 0
OMNAXE =SI| KA 1,000,000& * 1= 1,000
206 T2 HI 520 520 0
01 =8l 520 520 0
OWHEXE L ANEE 520
Otlss 20,000& = 104 200
OctbrE 10,0002 * 104 100
(@RUFSES =y 2,200& ~ 100K 220
305 a2 S 5,000 5,000 0




SH SRAYRES XN
M ARG EEZWSIIBES
Sl MRS T2E I CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 Hia=s 5,000 5,000 0
OMSOFAL AIDYM viaZ
500,000& = 103l 5,000
401 A& HIZ 201 I 33,000 0 33,000
01 A& HI 33,000 0 33,000
O XISt HNHFH 33,000,000& 33,000
NS A2 (2hl) 9,146 0 9,146
< 9,146
401 Al HIZ 2018 9,146 0 9,146
< 9,146
01 A& HI 9,146 0 9,146
©2022F XN &9 &2 9,146,000 9,146
< 9,146
S NsHEHH & &X 420,000 420,000 0
s 210,000
Al 210,000
401 AIEHI L 2 CHYI 420,000 420,000 0
s 210,000
Al 210,000
01 A& Bl 420,000 420,000 0
ORwse=EZTH S &X 420,000,000& 420,000
as 210,000
Al 210,000
NSAMD &2 R NAAIG (MSALY) 1,282,944 0 1,282,944
< 640,000
Al 642,944
401 Al HIZ 201 I 1,282,944 0 1,282,944
< 640,000
Al 642,944
01 A& HI 1,280,000 0 1,280,000
OWEAIMEl 8 3L WEAMD 2 2 A
A 480,000,000 480,000
< 240,000
Al 240,000
OFMANE S WA DEAD RS R M
A 480,000,000& 480,000
= 240,000
Al 240,000
O=®DAINE S 204 DEMD B2 R N
A 320,000, 000& 320,000
< 160,000
Al 160,000
03 A& S THHI 2,944 0 2,944
OWSAtLD &2 2 HAAY AR
2,944,000 2,944




SN SRAYES NANLD
M ARG EEZWSIIBES
S AYESE E2EFFH| CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LoEs A HEAIS (HEAY) 508,368 0 508,368
< 253,500
Al 254,868
401 Al HI K 201 I 508,368 0 508,368
< 253,500
Al 254,868
01 A& Bl 507,000 0 507,000
0822 BEY S 4HA LOEEIY K
A 244,000,000 244,000
< 122,000
Al 122,000
022 BEY S 4HA LOEEIY K
A 263,000,000 263,000
< 131,500
Al 131,500
03 Al 2 THHI 1,368 0 1,368
OLESFA HHAY AL
1,368,000 1,368
SIMWKE AXA (HEAY) 561,288 0 561,288
< 280,000
Al 281,288
401 Al HI R 201 561,288 0 561,288
= 280,000
Al 281,288
01 A& HI 560,000 0 560,000
OSYS AN FH D2 LAY
280,000,000 280,000
S 140,000
Al 140,000
OEZ4Fsn FH 3dUNZE EXAY
280,000, 000& 280,000
< 140,000
Al 140,000
03 AlE 2 THHI 1,288 0 1,288
OFDIZ HXAY AERHI
1,288,000 1,288
SEEd HAAS (MEAY) 300,000 0 300,000
< 150,000
Al 150,000
401 Al HI K 201 I 300,000 0 300,000
< 150,000
Al 150,000
01 A& tI 300,000 0 300,000
AE(422) BHBY HLAY
300,000,000 300,000
< 150,000
Al 150,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
ool SMDE R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SMNESIIetxEd 3,318,080 1,845,008 1,473,072
AHEANOIE SHSALS 481,257 558,511 NTT,254
201 Let24d] 31,430 30,833 597
01 At 22/l 27,950 27,353 597
OXN&EN 08 EE clIERH MZE
100& = 55,0000H 5,500
OHEANY RNENPE 28 84
150,000 * 430 & 6,450
OXNEAN nsSHtdNE ZASH
80,000& = 2002l 16,000
02 =24l 3,480 3,480 0
ORd NEHUAHA THEAH =2l
3,000,000 3,000
ORHE NENUHA: HIIRS
40,000& = 123 480
307 21201 A 26,000 24,366 1,634
05 BIZHRIE 3 26,000 24,366 1,634
ORNFEAHNAL U PRASE 29
26,000,000 26,000
401 AIEHI L 20 391,827 503,312 A 111,485
01 A& HI 390,000 500,000 A 110,000
O8YS GSOE & NHEAHEZZ HHISAHL=0.3
5km) 80,000,000 80,000
OLLEE =TI HFH 43 NAEHCZ
ZHI S AH(L=0.61km) 100,000, 000& 100,000
OdEE 1107HA L& INEHNZZE FHISAHL
=0.7km) 210,000,000 210,000
03 Al =2 THHI 1,827 3,312 A 1,485
OXNEAHNETZ HHISAH AlER2THYI
290,000,000& * 0.63% 1,827
402 RIZ2tXt20l ™ 30,000 0 30,000
01 212t 2 AL E = (REM ) 30,000 0 30,000
OFIINEAN & XA 300,000& = 1009 30,000
405 XHoHF S HI 2,000 0 2,000
01 HatL ESFH S 2,000 0 2,000
ORE NEHUHAHA THtEAH F
200,000& =« 10CH 2,000
NGEHAE FX 2 A 380,750 380,750 0
401 AIEHI L 2CHYI 380,750 380,750 0
01 A& HI 378,950 378,950 0
OXNAEHEZE KX 2l A (L=546.9km)
250,000,000 250,000
OREANE=ZH SAIIAMY 20,000,000& 20,000




2N

c=2
S Al
Y AH
-/ T/

- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o ﬁ}lgﬁ HRE2
OXNEH B2 EXAY 600,0008 = 20X 12,000
OXNEH DECHHMEX| HHIALS
200,000& * 10004 & 20,000
ONEANEEZER EXNY AH ALY
150,000 = 10004 &~ 15,000
OXNEH E T AXAY
5,000,000 = 10902 50,000
OXNEHOISAE SANSEAY AAEHSS
250,000,000 * 4.78% 11,950
03 Al 20| 1,800 1,800 0
OXNNEHEZ KA &2 AIEL20H
250,000,000 * 0.72% 1,800
22U SH 2 RISsHAIY 898,000 379,000 519,000
403 XX SHS K20 & 898,000 379,000 519,000
02 2I2SOUSA=2EAEAIS Y 898,000 379,000 519,000
OJII2HEALAZ XI=3HAFS (L=500m)
898,000,000 898,000
NEHEAMAS LT S FAIS 1,000 1,000 0
203 R F & 1,000 1,000 0
03 AIZHF=AH 2 F X H| 1,000 1,000 0
osotgdR=4A 1,000,000 1,000
TS 2 AIE 2] 68,338 63,082 5,256
201 2Et2H Y| 53,338 48,082 5,256
01 AP 2t 2] H| 37,786 32,580 5,206
OZ A3t&==2 H2X EH0H 3,750
OEXNEY =2 1,250,000  2& X 2,500
OZEBEI} =2 350,000 = 2JH Ak 700
OSJ0lE =2 110,000 * 5& X 550
Oz ANY2E Hd2HEA HE
20,000 = 508 = 83 8,000
OJz=2Z22d NEAsE WM M2
15,0008 = 3008 4,500
Oz &cldos AoXE HZ
30,000& x 308 * 43| 3,600
OERZ2ANE Y HALY
100,000 * 129 * 23] 2,400
O=42(LetEE,2H &) 100,000 = 103] 1,000
o2ss3de 28y =3
0,0008 = 2JHAF x 13 1,000
OZHEHSERA MEESEE=
20,0008 = 25 500
OXEBNE M2 A23 1,936
O& 4 330,000 * 48tA 1,320
oed 154,000& * 4N E 616




2AM: T2AIYE=
HzH: AIBIE G

&l
S SMDED)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2NHIEX d2AR=Z 25,0008 * 123 300
OLZAY =& SEXE Xt
00,000& = 1CH = 12& 10,800
02 2324l 15,552 15,502 50
OEAYE 2 0B T2 X 22| 3,462
OE4Zz8 sXlacldl
140,000& * 12&8 1,680
O S ADBAtZ (DFinder) S Xl2t2lyl
17,820,000& * 10% 1,782
o3z &2 12,090
Oxz2eEg = 850
-S&i =¥ 350,000& =+ 1CH 350
-st=x ¥ 500,000& = 1CH 500
Oxtg =Xl 11,240
-S&X 4,900,000& = 1CH 4,900
-st= Xt 4,300,000& =« 1CH 4,300
- XX 2,040,000& * 1CH 2,040
203 YR =2t 15,000 15,000 0
03 Al =AY R =& 15,000 15,000 0
OXYIHE HRF2 9,000,000& 9,000
OALB BHO Y AL FA
6,000,000 6,000
SEHE NENTEEEZ ZEAY 1,075,735 55,000 1,020,735
401 AIEHI L 2CHEI 1,075,735 55,000 1,020,735
01 A& HI 1,069,000 55,000 1,014,000
OS2 ANEHZZ FUIAY
1,069,000, 000& 1,069,000
03 Al 2 THHI 6,735 0 6,735
OS%d NENZZ HHAY
1,069,000,000& * 0.63% 6,735
E B3 CCTV HE S A 270,000 0 270,000
401 AIEHI L 2CHEI 270,000 0 270,000
01 A& HI 270,000 0 270,000
O2& B3+ CCTV H&E S A 270,000, 000& 270,000
S NEANEZ2 2eld ZHlALS 30,000 0 30,000
401 Al HI K 201 I 30,000 0 30,000
01 A& HI 30,000 0 30,000
ORAA NENHEZ 22l FHUlAY
30,000,000& 30,000
Olsd NENHEZ JtesS &EXSA 100,000 0 100,000
401 AIEHIZ 28I 100,000 0 100,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
©el: SMNE)IgEY (chel: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 Al tl 100,000 0 100,000
QL&A NEHNEZ IS AXSA
100,000, 000& 100,000
QES A HEANEZE ZdAE 13,000 0 13,000
401 Al HI K 201 I 13,000 0 13,000
01 Al Hl 13,000 0 13,000
ORES el NMMAHET=Z ZTHAY AAEHS
s 13,000, 000& 13,000
sZ 2% B3 3,386,000 1,941,000 1,445,000
SH-EIUN ST 2EZFIA 600,000 0 600,000
401 AIEHIZL 201 600,000 0 600,000
01 Al H 600,000 0 600,000
OFH~B22 T2 I F I AH(L=1.9%m)
600,000,000& 600,000
g s2dcl T2 I TS A 650,000 700,000 A 50,000
401 Al HIZ 201 8] 650,000 700,000 250,000
01 Al gl 650,000 700,000 A 50,000
OEY &l = 2E X E I AH(L=0.76km)
650,000,000 650,000
E~gtat2t S 2E T Y I A 947,000 0 947,000
401 Al HIZ 201 Y] 947,000 0 947,000
01 A& HI 947,000 0 947,000
ORE~3H42E S 2 & I T Z AH(L=0.72km)
947,000, 000& 947,000
S0l 22l T2 ZEHIA 252,000 0 252,000
401 Al HIZ 201 I 252,000 0 252,000
01 Al tl 252,000 0 252,000
O=0 el T2 I I AH(L=1.3km)
252,000, 000& 252,000
S AE1e S22 EE DA 200,000 0 200,000
401 Al HI X 201 200,000 0 200,000
01 Al Hl 200,000 0 200,000
02E MWH12 T2 AIAH(L=0.89%m)
200,000, 000& 200,000
o Ahitel S2EEZH I A 177,000 467,000 290,000
401 AIEHIZL 2 CHEI 177,000 467,000 A290,000
01 A& HI 177,000 467,000 290,000
A ardte] = 2E X E I AHL=0.54km)
177,000, 000& 177,000
of TRCI(2BF) TRH I I T A 175,000 0 175,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
©el: SE S2Y 23 CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
TAIEHI &R 175,000 0 175,000
01 A& HI 175,000 0 175,000
Oz TAe(28F) T2 EZ XS AH(L=0.7km)
175,000, 000& 175,000
= el E2 LTS A 130,000 0 130,000
401 AIEHIZL 2 0] 130,000 0 130,000
1T A& HI 130,000 0 130,000
OUl# Hel T2 LS AHL=0.71km)
130,000, 000& 130,000
g otdte] S2EIHEIAM 80,000 0 80,000
401 AIEHIZL 201 80,000 0 80,000
01 A& HI 80,000 0 80,000
oY Jrdtel T2 & X & B AHL=0.38km)
80,000,000& 80,000
S SHe S REZIIA 130,000 0 130,000
401 Al HIZ 201 8] 130,000 0 130,000
01 A& HI 130,000 0 130,000
O8E E=ol T2EEE ZAH(L=0.67km)
130,000, 000& 130,000
ANZ 1786 S 4Hcd T2729 Z2H(HYE) 89 45,000 0 45,000
401 Al HIZ 201 Y] 45,000 0 45,000
01 A& HI 45,000 0 45,000
ONME 1786 S 4 L T2 Z2F(HZE
) 89 45,000,000& 45,000
HY2IAZH (T2 A2 XSG n) 366,855 385,167 A 18,312
ol 2 Il 303,695 302,403 1,292
ol Al 303,695 302,403 1,292
101 @124l 297,028 302,403 A5,375
01 2= 238,069 238,069 0
OYLE AAYDRAT
10,8413 = 61% = 30AI2t = 123 238,069
02 JIEt A 2+ 6,335 6,335 0
OAZHEERYINHM(0IZS) Al2teA222¢
8,798% * 2 » 30AI2F » 123 6,335
03 SR (RIAHY)2Z2NE S 52,624 57,999 A5,375
OMEXY S (LIZ) 52,624
OoJlzs 33,719
-16 Xt 2,809,890& * 1H » 123 33,719
OF=1 14,415
25 140,490& » 198 = 128 1,686
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= o
A & 0l & AF 2 E A A
20229 &= = 0lat LB &
FA TZAYER T 2AED
Ha: OTA Y ASHO JFEE TRISY 7S
S FRAM BACRY | IS CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CEMNEER TZ2AEN 12,141,594 11,289,785 851,809
AT Al O dSHQ HEE S 2usY 2= 12,082,927 11,225,243 857,684
FRAE BIE2L )| AH 5,090,000 4,850,000 240,000
NEZ2(AIAMHel~SZAAHel) & 2,000,000 0 2,000,000
401 Al HIZ 2018 2,000,000 0 2,000,000
01 A& HI 2,000,000 0 2,000,000
OMEZ(ASAHE~=SAH2I) & & (L=1.5km
, B=35m) 2,000,000, 000& 2,000,000
G2 (2Euiz~-Eds) SE3A 790,000 600,000 190,000
401 Al HIZ 201 Y] 790,000 600,000 190,000
01 A& HI 790,000 600,000 190,000
OHMZ(EEUXNZ2~EE=H)EE I AHL=0.52
km, B=35m) 790,000,000& 790,000
aclHE & Aa22 4 1,000,000 200,000 800,000
ANEHI &b 1,000,000 200,000 800,000
01 A& HI 1,000,000 200,000 800,000
odeleg & HZB=2 AXI(L=0.51km, B=5.5m)
1,000,000, 000& 1,000,000
AstA2 s YA 700,000 1,000,000 300,000
401 AIEHI L 20HEI 500,000 0 500,000
01 A& HI 500,000 0 500,000
ONstHE s LM SA (L=228.756m, B=8.5~14
.1m) 500,000,000 500,000
403 XIS S X201 & 200,000 1,000,000 800,000
2 S| 2SOICHEHA 2 X S A I 200,000 1,000,000 800,000
OAst2E = JHIANE RFE=2
200,000,000 200,000
EFA T2A4d22HE =8 600,000 0 600,000
401 AIEHI L 201 600,000 0 600,000
01 A& HI 600,000 0 600,000
OFFA E2AL2eH = =8
600,000,000& 600,000
CHLNS SHHel & HHZA PE 5,494,422 5,675,821 A 181,399
SUAAY JHASEX L& 969,000 786,000 183,000
401 A& HIZ 201 Y] 969,000 786,000 183,000
01 A& HI 969,000 786,000 183,000
OJEHAER 24 (12m0l &) 800,000,000 800,000
OMLH HE =5 169,000
OEEsYg === 400,000& * 30E X 12,000
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FA TZAYER T 2AED
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 1,400,000 0 1,400,000
01 A& HI 1,400,000 0 1,400,000
OBEZ(HINE~UAZMH2EY) & ZAHL=0.25
km, B=15—25m) 1,400,000, 000& 1,400,000
HES OIFSHAH WS HARZ Z2HE 700,000 700,000 0
401 AIEHIZL 2 0] 700,000 700,000 0
01 A& Hl 700,000 700,000 0
OXNES OIFBHA~S NS HAZ S22 A (L=
0.34km, B=12m) 700,000,000 700,000
SMH QML s2MECHAE JLEZ HESA 1,000,000 353,000 647,000
401 AIEHIZL 201 1,000,000 353,000 647,000
01 A& HI 1,000,000 353,000 647,000
OSMH M2 SLEMSTHAZ WYT2 N
& Z AH(L=1.20km, B=15~20m) 1,000,000,000& 1,000,000
dA~5&2F S2HESAM 100,000 300,000 A 200,000
401 Al HIZ 201 8] 100,000 300,000 A 200,000
01 A& HI 100,000 300,000 A200,000
OZM~7 &2t T 2IHE 3 AH(L=1.69kn, B=20m)
100,000, 000& 100,000
E2 ANE |X2el 98,505 199,422 A 100,917
IR (E=2)22] 48,505 49,422 A917
201 ¢4l 46,505 47,422 A917
01 At 2t 2l 44,202 44,298 A 96
O=27TL 2Helx==3 28,562
OZH=EY =82 885,400& = 30Z X 26,562
OSJEE =82 50,000& = 40Z X 2,000
O=27rMit2te 25+ 70,0003 = 304 2,100
OAZT JI=(2Y S)/AYs &g
100,000& = 5% = 53] 2,500
O=RMe & T2OHEHR I Xz
870,000& = 104 » 123 10,440
O8=% F (=20 HUlol e AR =
2) 60,0003 = 104 600
02 =224l 2,303 3,124 A 821
O=RMi & T2OHE PR XX 7FHI
1,509 = 84 = 104 » 180 2,303
203 YR =&l 2,000 2,000 0
03 AIZ=AH R =AH| 2,000 2,000 0
OE2HE Z2FaA 2,000,000 2,000
2SS ZelAlAE el 50,000 150,000 A 100,000
201 Zet24E] 50,000 100,000 A 50,000




FA TZAYER T 2AED
Ha: BATA Y ASHQ FE TRISY 7S
Eelr &2 A8 |X2el (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 50,000 100,000 A50,000
OT=2xY ZelAA" KX 22l
50,000,000& 50,000
sEXNY o2 HE AT JIBAIE &3 1,400,000 500,000 900,000
g2 dsel E2HT S A 400,000 0 400,000
401 AIEHIZL 2 0] 400,000 0 400,000
01 A& Hl 400,000 0 400,000
ogyd dEel S2EE S AH(L=1.4km, B=6—2
Om) 400,000,000 400,000
QEAS LXel~Felt S2IHESA 1,000,000 0 1,000,000
401 AIEHIZL 201 1,000,000 0 1,000,000
01 A& HI 1,000,000 0 1,000,000
ORES LXel~Ael2t T2 A 3 AH(L=2.0km,
B=12m) 1,000,000, 000& 1,000,000
HH2LHZH(ZZAED) 58,667 64,542 A5,875
Jl2Z3l 58,667 64,542 N5,875
JlE2&l 58,667 64,542 A5,875
201 Let24E] 26,867 28,215 N1,348
01 At 2t 2l 25,806 25,461 345
OJl2g R ZH| 450,000&  23Y 10,350
O= &l 8,000& = 23 * 7 123 15,456
02 =224l 1,061 2,754 A 1,693
OH#F AR EHl S AHI 1,061
O=ALJ| 4,202,000& = 108 » 8% 337
OEZE=2HZEH 9,048,000& * 1CH * 8% 724
202 044l 27,600 32,127 N4,527
01 = LH &4 1l 27,600 32,127 A4, 527
OJIEZ 20,000& = 23 * 5& » 123 27,600
203 YR =&l 4,200 4,200 0
04 FENSEHE=LH 4,200 4,200 0
OJ| & (25210138t) 350,000& = 12& 4,200




——
N = 0 A Ab 3 Al
T 204 LetsH SA
CE2AE 22 oA 2t
AN HRHE otXEH MAHF
I THoH 2 S E UM olZet = (CHe &)
(o
CHD B (BH) - MBAY - BAS Ol &F o4 %@ﬁ HRE2
of & gk TH 1t 14,761,693 8,281,886 6,479,807
= 3,913,000
= 965,500
Al 9,883,193
XA R E oHMEH MAHGHA 14,711,740 8,229,664 6,482,076
= 3,913,000
o= 965,500
Al 9,833,240
THoH 2 2 E OtEMEH olTet 2= 6,862,984 2,400,411 4,462,573
= 1,085,000
o 325,500
Al 5,452,484
=2HFAE A2 113,024 107,563 5,461
201 et 9| 73,024 67,563 5,461
01 AP 2t 2] d| 3,224 2,763 461
OUWEXF? EMFAIE M|t
== 330,500 * 7€ 2,314
OMMX TP SEMFAIE MM
== 130,000 = 7€ 910
02 2324 69,800 64,800 5,000
O A& Z&H| KX 4| 5,000,000& = 63l 30,000
02222 39,800
[OYSPIETE=] 2,500,000 * 200 ~ 7€ 35,000
OS8gHd ME=
200,000 * 2004 + 12€ 4,800
401 A& HI L 204 HI 40,000 40,000 0
1 Al&H| 40,000 40,000 0
SLEXNFALE 22 20,000,000& = 23| 40,000
EX™ACHE TH A (HBALS) 1,578,400 1,003,600 574,800
401 AlEHIZL 2 0HY| 1,578,400 1,003,600 574,800
01 Al&H| 1,578,400 1,000,000 578,400
O=XEASHAE FHIAY (L=2.52km)
1,578,400,000& 1,578,400
HHAGHE ZHIAIYL (HSAIY) 1,500,000 0 1,500,000
1A H Y20 1,500,000 0 1,500,000
01 A& H| 1,500,000 0 1,500,000
OMHHEASHE HHIAY (L=3.9km)
1,500,000,000& 1,500,000
APAGHE THIAIS (HEALY) 750,000 0 750,000
401 Al HI L 204 HI 750,000 0 750,000
01 Al&H| 750,000 0 750,000




2N 5
DR ol

X ZH
S =

el

CZANEER

Mol 2 FE tdEt el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ&AGHAE HBIA (L=2.913km)
750,000, 000& 750,000
SHALGHE HUIAL (M EHANY ) 500,000 0 500,000
401 Al HI K 201 500,000 0 500,000
01 A& tI 500,000 0 500,000
O3H256tA FHUIAY (L=2.103km)
500,000,000 500,000
ACHE S E=AtY 200,000 200,000 0
401 AIEHI L 2CHYI 200,000 200,000 0
01 A& HI 200,000 200,000 0
OAdtd |AE =4l 40,000,000& = 53| 200,000
SUAMNY BHY DXNSEXN B4 51,560 82,510 A 30,950
201 £B-2dH| 1,560 2,510 A 950
01 At 22l 1,560 2,510 A 950
OBAYREA T2 S22
130,000& » 12& 1,560
401 Al HI K 201 I 50,000 80,000 230,000
01 A& HI 50,000 80,000 /30,000
OAxctd DIXISEX E4Hd] 50,000
O24dl & =+=8 S 50,000,000& 50,000
LM Sroll M2 SSEHAY 2,170,000 0 2,170,000
= 1,085,000
< 325,500
Al 759,500
401 AIEHIZL 20 2,170,000 0 2,170,000
= 1,085,000
< 325,500
Al 759,500
01 A& Bl 2,170,000 0 2,170,000
OLLRF Sofl MEA SEFTHUAEY
2,170,000, 000& 2,170,000
= 1,085,000
< 325,500
Al 759,500
A XtAHOl 2ESt= MHEHSHE =4 2,619,538 938, 462 1,681,076
< 640,000
Al 1,979,538
F=5S MEHIAMSRE LMY 1,750,000 0 1,750,000
401 AIEHI L 20 1,750,000 0 1,750,000
01 A& HI 1,750,000 0 1,750,000
OXF=SS MEHHAMSE Z4 ALY (A=60,599m)
1,750,000, 000& 1,750,000




BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
At E MEjGHE SJAAY (HEAY) 764,538 838,462 AT3,924
= 640,000
Al 124,538
401 Al HI K 201 I 764,538 838,462 NAT3,924
< 640,000
Al 124,538
01 A& Bl 764,538 838,462 AT3,924
OHNS A MEHGHAE =3 A 764,538,000 764,538
< 640,000
Al 124,538
MEfSIE SEMG AZZ2UHE 105,000 100,000 5,000
401 Al HIZ 201 I 105,000 100,000 5,000
01 A& HI 105,000 100,000 5,000
O22d MHGIE SIAMY AFL2LIHE S A(
AT EE) 41,000,000& = 13l 41,000
OBTH MESE 2AANY AL
AT EE) 64,000,000& = 13l 64,000
o A0 HSHE ME6HA 28 5,229,218 ,890,791 338,427
= 2,828,000
Al 2,401,218
ot&E Gt Med| HatAY 95,714 120,000 A 24,286
= 67,000
Al 28,714
401 Al HIZ 201 I 95,714 120,000 A 24,286
= 67,000
Al 28,714
01 A& HI 95,714 120,000 A 24,286
Oot&at7 Med] HatArd 95,714,000& 95,714
= 67,000
Al 28,714
=IIIotdE S 2el At 2,761,000 1,472,000 1,289,000
= 2,761,000
201 L2l 316,176 135,000 181,176
= 316,176
02 2324l 316,176 135,000 181,176
oz2o= 136,176
Otl+2 S41R3
88,000& = 4602 * 128 48,576
= 48,576
Oth=8 &JIes 7,300,000& = 12& 87,600
= 87,600
O A& &EHl =Xl 180,000, 000& 180,000
= 180,000
401 AIEHIZ 28I 2,444,824 1,337,000 1,107,824
= 2,444,824




SN CRAYER

HH: D oS HE MBEA
SRl AL X0l Ol ReHd MEstd 28 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 Al&tl 2,440,824 1,333,000 1,107,824
OZINIE S 2,440,824,000 2,440,824
= 2,440,824
03 Al =2 THHI 4,000 4,000 0
O=Jtotd KX 2l At 4,000,000& 4,000
= 4,000
HEE &= GtE 2 1,824,314 2,025,259 A 200,945
201 £B-2%H| 705,032 779,423 AT4,391
01 At 22/l 557,584 544,583 13,001
O1A 1otd AIE2S 82 ¥ =23 10,490
OB Xt 6,000& = 55004 3,300
O&3t 15,000& * 70K 1,050
(OFS = 500& + 2,5000H 1,250
OM= & a3 2,000& = 55004 1,100
OZ2EAM 4,000& = 5504 2,200
Ogs+o 70,000& = 7H 490
O &I 100,000& * 54 500
SHIIY g 200,000&  30H A 600
OXHl AXE (24D, €H)
500,000& =« 24CH 12,000
Odctd2tel EEA R ANEHIS IS
900,000& = 12& 10,800
oxIItE e W2 (2 H+=2E)
200,000& » 1104 « 123 26,400
OXItE MII&H HIIZGAH( A2, Sl
LT PUWLT SBUWA2 2AHER)
700,000& * 50 A& 3,500
Oi=& RIFHEA =2
484,000& = 12& 5,808
OREAE RS> A2 (B=250HEZA)
93,000, 000& 93,000
ORAMHE FANEx BUS(SH2TESAH) 394,186
O2xR2= 26.353 = 80,000& » 180 379,440
(OFNE=PNR=3=3 1.024& = 80,000&€ * 180 14,746
OfI&s =¥ 1,400
OJdIzAactd2eR2E =%
100,000 = 43 =« 23| 800
O3g&E a9 30,000& = 5% « 43| 600
02 =224l 147,448 234,840 A87,392
OxtE ==l 1,377T3 = 84 = 240 2,644
OIS (XNYSE AEE)
99,000& = 5900 + 128 70,092
OSNRB (=& =2 ,CCTV, 82 S g
ot AEE) 72,0003 * 84 + 12& 6,912




FA: TZALER SHE YD
M MO HSAT OHFE MG
S AP TS0l oA MEcE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oadt== 23 (3&4 . 3=U)
1,000& = 130€ » 5014 « 123 7,800
OGtE A EEHl SAE =4I
300,000& * 200K £~ 60,000
203 YR =&t 2,000 2,000 0
03 AIMF=XH R =AH| 2,000 2,000 0
OStdL gR=2 2,000,000& 2,000
305 a2 S 2,000 2,000 0
01 tHaf=S 2,000 2,000 0
OctEAIEE WE2F Qe TIIoHHH &
1,000,000 = 23l 2,000
401 Al HIZ 201 bI 908,634 1,026,208 A 117,574
01 A& HI 902,940 1,022,484 A 119,544
Oot& K& At 571,500
OAE FHl ¥ KXzl 120,000, 000& 120,000
OR&AE U=2F MSAE(ZHRNEH) FHUlIA
& 60,000,000& 60,000
O&=AE R (0FA2SIIR &)
50,000, 000& 50,000
Octd |2l (stEa FH £ KX2al)
150,000, 000& 150,000
OAEHEY 2 Ex(MH#z ot 5)
150,000, 000& 150,000
O6td MIIANEE B2l (H2F a2, =
HAHE SHEA S) 20,000,000& 20,000
ORAF SIS A (A4 2,0
CTvV 8) 21,500,000& 21,500
ORAF Mz Pots XM (SEL~-ZH
w) 188,640
O& A& I 180,000,000 = 4.80% 8,640
O3 Atd| 180,000, 000& 180,000
OStEAlZd S22l CCTV &sHE ALY
3,800,000& * 69H £ 22,800
OR4d 2=S2& X4 40,000,000& * 3M A 120,000
03 AIE =2 THHI 5,694 3,724 1,970
Ootd 2el 903,790,000& * 0.63% 5,694
403 XHXI SIS Xt =201 ® 206,648 200,628 6,020
02 SO 2SOICHsH A2 X 2| A I 206,648 200,628 6,020
OM+BIN 9(+)St2e (MY S8, &Y A
) 51,662,000& * 404 206,648
=2 MAH(SHA) 2el 4,298 23,789 A 19,491
201 Let249] 4,298 3,789 509
01 At 2teltl 4,298 564 3,734
O=2®Me AAE2Z 20 DXM 1M 593




2N
X ZH -
L= B

el

= - 4 14
A+ ZE S (3A) - HRA - By S e Hl D= 2t
OFr=s—= 150& = 2,5000H 375
OLIX M 72,6003 » 3% A 218
O=7TL 2Helx=s3 3,705
OZH=EEY =8 607,000& = 5E X 3,035
OsSJEEY =8 67,000& = 10Z X 670
= HUIAG (TR S AL 543,892 525,593 18,299
307 glz2+ol & 285,700 280,000 5,700
02 It MNAMHEE 285,700 280,000 5,700
OXstdsy M E2Y(2YH)
275,200,000& 275,200
O2tel Hstx Al & YAAL(EEH)
10,500, 000& 10,500
401 Al HI & 28I 153,654 179,515 A 25,861
01 A& Bl 153,654 179,515 A 25,861
HEEY =oU=sJAAMYOIEH, 298, &
&) 153,654,000& 153,654
402 2I2H X201 M 104,538 66,078 38,460
01 2IZF 2 A B (KM ) 104,538 66,078 38,460
OFE22l sIIHPLXNIAML(IIEH)
21,880,000 21,880
O&sel sIHPLXIAG(IIEH)
23,000,000& 23,000
OX33c| OtSFBIAMZ (Ot ®) 21,000,000 21,000
O=&2c| OtSEHIAI (Ot ®) 23,000,000 23,000
OvotAM2e]l sIIHPLXNIAMG(SEZH)
15,658, 000& 15,658
i HAL(EZAML 2L Gt D) 49,953 52,222 A2,269
a4 49,953 52,222 A 2,269
224l 49,953 52,222 A 2,269
201 Let24E] 19,953 20,542 A 589
01 At 22l 19,953 20,542 A 589
OJ2g =383 450,000 = 18H = 97% 7,857
o=gd (JI&EZHl)
8,000& = 189 = 7 » 123 12,096
202 o4l 22,800 26,880 24,080
01 = LH YI 22,800 26,880 A 4,080
OJIEZ 20,000& = 17¥ = 5« 128 20,400
O HOHI 200,000& » 1Y 128 2,400
203 YR =& 3,600 3,600 0
04 NI FAH 3,600 3,600 0
O©JI & (2021 0138t) 300,000& = 12& 3,600
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